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f(x,y) D f D
[] xydxdy D=[01]x[0]
D=[01]x[0]]
f(x) [a,b] D =[a,b]x[c,d]
Fix,y)=f(x) (x,y)eD
F(x,y) D
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D D
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D D
(1) Ijxy(x+—y)dxdy D [0,1] x[0,1]
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D
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1
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(1) J'J'xyzdxdy D y? = 2px ng(p>0)
dxdy

2 (a> D a,a a
2) jjm 0) (a,a)
@ [feddy D {YIIXHYISD

D
@ [[O +y?)dxay D y=Xx,y=x+ay=a y=3a(a>0)

D
(5) J'J'ydxdy D x=a(t-sint),y =a(l—cost) (0<t<2x)

D

X

L2y

(6) HY{erZ(X y)}dxdy D y=x,y=-1 x=1

D
() [[x?ydxdy D={(x,y)|x>+y?22x,0<x<1,0<y<x}

D
(8) ”J xy?z°dxdydz Q Z=xy y=x,x=1 z=0

Q

dxdydz

©)] I;[I(1+x+y+z)3 Q x=0,y=0,z=0 x+y+z=1
(10) I_U zdxdydz Q z=x*+y? z=h(h>0)

Q
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Q
(R>0)
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x=0,y=0,x=1y=1 z=0
2X+3y+2=6
yi+z2 =1 x=0,y=x%x,2=0
z=x>+Yy’ x+y=1
f(x) R a,b

@ [ox[t )y = [t (1= y)ay
@ Juy[ et (0d= [ @@a-xef()d a>0
f(0) [04]
Favf)"e” (o= [ (" —e”) (o
D = [0,1]x[01]
1< ”[sin(xz) + cos(yz)]dxdy <2

2

D =[0.1]x[0.1] 1—%3costsl It]< 7/2

49 )
— < || cos(xy)“dxdy <1
- IDI (xy)*dxdy

D Xy D X y
L1, (a.p) D

@ |[[x=a)(y - B)dxdy <1,1,mD

@ |[[(x=a)y - Bydxdy| < =~
f(x) [ab]
[f’ f (x)de <(b-2)[ [f ()] dx

f(x) [ab]
”ef(x)’f‘y)dxdyz(b—a)z
[a,b]x[a,b]
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Q
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1 ”e’(xz*yz)dxdy D x> +y?*=R?* (R>0)
D



2 ”ﬁdxdy D x> +y>=x
D

3 H(x+y)dxdy D X +y?=Xx+Y
-y’ 2 2

4 ————axd D X“+y =1
” 1+ %% +y? d y

1 (ax+by+c)* +(a,x+b,y+c,)’=1 oJ=ab,—ab #0

1 y>=mx,y>=nx (0<m<n) y=ax,y=/ (0<a<p)
3 (x* +y®)? =a(x®-3xy?) (a>0)
4 2 2
Xy Xy .
(F-i_gj =?+b—2 (h,k>0,a,b>0) x>0,y>0

[ j f(x, y)dxdy

p—>07z'p x+y <p
f(x,y)
1 J.J‘(\/;Jr\/y)dxdy D Vx+4fy =1
D
x? y? . x>y’ ;
_[)j(?er—Z]dxdy D i a—+b—:1 i
X2+y2 :RZ

3 ”ydxdy D Xx=-2,y=0 y=2 X =—2y—y?
D

X-y

4 “‘ededy D X+y=2,x=0 y=0
B [Pt D ={(x,y) | x| +| y £}
5 1+ (X— y)
Jx2 +y? —
° ” — dxdy D y=+va’-x*-a a>0

\/4a - x? —y

1 ﬂj(xz +y? + 2% )dxdydz Q {(x,y,2)| x> +y* +2* <1}

2 2

2 m\/ dxdydz Q {(x,y,z) %+g—2+z—2£1}
3 .mzw/x + y? dxdydz Q y =2x—x° z=0,z=a (a>0)
Q
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y=0

zIn 1+x +y +z)
4 _m Ly 1y? 172 dxdydz Q
{(x,y,2) x> +y?+22 <1, z>0}
5 Hj (X + Yy + z)?dxdydz Q x* +y? =2az
Q
x> +y*+z°=3a* (a>0)
y* =2z,
6 X° + xdydz Q z
o e
7 dxdydz Q={(x,y,2)| x> +y*+(z-1D* <1
mﬁ e
z>0,y>0}
8 ”J(x+y—z)(x—y+z)(y+z—x)dxdydz Q ={(x,y,2) |
Q
0<x+y-2<1,0<x-y+2<1,0<y+z—-x<1}
x> +y?+12° =R? x> +y? =Rx (R>0)
7=6-x"-y’ 7=4/X"+y?
X2 yz 22
1 (a—2+b—2+c—2j =ax (a,b,c>0)
X 2z}
2 (—4‘1) +(—j =1(a,b,c>0) x=0,y=0,z=0
a b c
47% = 25(x* +y?) z=5
p(x,y,2) =x* +y?
7=x"+y? 87
1207
2 2< 2
M {X Y EA . (00,0 (c>0)
z=0
x> +y®+7* <2Rz
2217 -8)< ] dxdy <z
X+y<1\/16+sm x+sin’y 4
f(u) [-17]
[[ £ 0+ yydxdy = [ £ u)du
IXFHylsL
f(u) [-11]
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Q:{(X11X2’...1X

DX+ X, +

2 I(le + x22 +"'+Xn2)dX1dX2"'an

Q

n

dxdy

{(x,

I!(1+|X|")(1+I y1*)

” p(x,y)

Xy,

13.4

dXdy D={(x,y)0<y<1}

1+x +y
m, M
p(x,y)
1z o yrye XAy P(X,Y)
X +y <1 (1 X y )p
dxdy
[O,a]x[O,a]|X - y|
dxdydz
Cyle?<l (X2 + y2 + 22) p
dxd
”sz D={(x,y)Ixy>1x>1} p>q>1
p XY
(35
Jle = axdy
XV
aZ bZ—
3 Ijje‘“ “52 dydydz
y=x* x?+y?=1

U

dxdy

X+y

-l

v L+ x3)A+y?)

dxdy

o+ X, <L x 20,i=12,---,n}

X)X %7+ %2 <}

0<m<|p(x,y)|< M
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Fi) = [ e Vdxdy  F'(t)
0<x<t
0<y<t

f(x) [0,a]
([ ) dxdy = z[ " f (x)dx

O<y<x<a (a - X)(X - y)

2 2 2
J'e‘(X1 Pt dx, dx, -+~ dx
Rn

n

13.5
1.
1 (xdx+7z%dy) A (ydx — xdy + 6dz)
2 (cos ydx + cos xdy) A (sin ydx —sin xdy)
3 (6dx Ady+27dx A dz) A (dx +dy + dz)
2.
® = a, +a,dx, +a,dx; Adx; +a,0dx, A dx; Adx,,
n =bdx, Adx, +b,dx; Adx; +bdx; Adx, Adx, +Db,dx, Adx, Adx,
w+n oAn
3.
@ = X, 0%, A dX, + X,dX, A Xy + L+ X,2)dX, A dX, + X, dX, A dX,
+ (X2 + %, 7)dx, Adx, Adx, — X, dx, A dX,
4.
5. dx Ady A dz
1
X=rcosd, y=rsing, z=1z
2

X=rsingcosd, y=rsingsingd, z=rcose
n .
6. wo;=)ald j=12--n R" 1
i=1

0, A0, A Ao, =det(@))dx, Adx, A AdX,



